FLH B IR KRR N2
2022-2023 L 22#4

T
&i%:%é?? (7] ) R (T



(=) BHEFRRNA L EEOHRT (Z) AR LA P EHGEER -

U E% : S8 24 (Expand and Reduce Fractions) - ZEEE BR R AS AR TH I |
L2 _ (0 ) 0. Tw, %
"5 100
10, " AR¥E B % o
,o_ 4o ' °
© 50 100 11. 60%Ep P,
, 126 _ ( b3 | 12. 4% /A
© 200 100 1 7 %
() a3 ARG EHE P EFEGHEE -
4 261 ) (51 ) 7% 21 (RGPS
© 300 100 EEREE R EAH T RNER
5.%%=<%&,) b % B RCBILE LA 100 Adhe c AREFHE 24—
) B BHE 10 ARKREA -
(=) RETEE LA - >
| ] 13. RB#SIHEEHIELHY . % -
!fn%i’g FEs A o2 (Percantages) 89 & & o )
14, kBHssEx4 [ A
15, ARMZE S FEEDIH 10, %

S REEBHRGBERAE T !

o w FE 4 B RH B 35 % X%k
, (EL) HE A 35 48 17
6. £ & 2 5 (Shaded part)4s & & &9 100 o
1 ke REAZ B — . 16. EBEEHM L EEEDHY 49 % o
8. £ a3 p b2 E 8 5 Y o 17. EBERGARE RN LEH L2 ",, . .

¥—& %R




() 8 F o LB LA &E 53 - (Convert the following (DD ETFTREIEALAEB TR -

percentages to fractions in the simplest form) (Convert fractions to percentages)
3 ; SuEn LR sy RWHE -
2EEH FREEHRAASBHHE - | FRE FRRABAHE RN
7 ,
18, 84y = 2 % 10=| AU
o — / « 6 0 Z
19. 225% 1 | 26. 5 = |2/ /0
20. 500% = | 5 o |
27. 157 =
2 | " 020 v
2. 32.5% = ||
- |
1 ~
2. 9% =| || 2. 5=|1.5% |
iy 7
AL 9
) AKE | & BE RS - — = '
() EKBEHHETILBALEE 29. b7 6\ 52

LRE - FRICP AT HHIH S HAEN -

30. %= T % /

%.u%%
e (Z) FTHABELE G2 BEMEIZETHESZIR?
= Yae
BUE - S AL RLAT RN |
31.
24. 37.5% y
%@%%méa%gj e 10 % -
\_\ &
32. e
-
X PR
( 2’) s Bp éég 9 o

% et eE é‘J< 7

m
NS

Ei
i

£ A



(=) #E&TF &8 rElLB R -

. (Z) FHIEBYEEEIMELBNE D T AEB & BorHf#E
(Convert percentages to decimals)

LEEW FERE R N HOTE - AR -
33. 8k = @‘-Og g FERER B S ERELH  DHRIBAILHIES |
34, 98% = | 5.
35. 1404 =
3. 0.6%- 000b |
1. 4.7% - (415 Yy L apt: 00w g 05
38. i%: U 46. /<>\
N
() & F 5l 4 N AL A B 22 - \< \>/
BEER 2ERRAIHAE S RATE | paag: M\gz_ 5 e 025
39. 0.07 = P’ - i,
10, 0.82- DL %
2.3 = /
T 0 () 42 F 5l 4t I B AT -
oAl / : BRER 2UAIY - N RASRALR -
44, 4 = L a4 P — ‘
18. 204 0.3 }é . .
49. 605% - 62—25 . 6.5 bobh< [ <
%A

N



(L) ieBBEE g A0, AFERELE -

29 Eg . 3G Pre-S1 gy o

50. 1 #v 1% EmEHEERES D ?
OA. 0 OB. 0.9
OC. 9.9 OD. 0.99

L e
Pl )

m.%x2&x1ﬁ=?

@h. 0.144  OB. 1.024
OC. 1.152  OD. 14.4

52. e T3.48% 1B Eik o A+ omeyBFEE '

B
OL 4 OB. 3
OC. 8 _fp_x T
04
53. T E|H—EHE AL 308 % F0 3.8 2P 9
Q§ﬁ«’/3.3 OB. 304 %
' Nl
OC. 3.008  OD. 3755
(N) BAA -
54 NERMZW 0. T2ETENE R BRT_ YeE

e

.8

24
LRGeS B TRIRM—R BA T
"N L 1y s e
ARk BB £ /R 2#&%ﬁﬂﬁa°

¥

FER

(A) PesiAa -
Sally, Ken and Bill joined a race. They started froy school and
bypassed the monument. The end point is the park. The distance is

exactly 1 km. The picture showed the positions of Sally, Ken and
Bill after b minutes.

[f they all kept the same speed, 5 minutes later:
55. Bill ran |0 % of the distance,
56. Sally didn’t complete (:};*

% of the distance.

57. Ken ran.__‘qgifg“ % of the distance.
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